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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
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Question Number : 2 Question Id : 7622117002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :
Tl W1 TExTs H1 SEToll SHY ST ofl Gehal @

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research
- x I BT B T

Duration of research

4 % T @I 3@ty
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8




Question Number : 15 Question Id : 7622117015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622117023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
faefefag § 9 o9 s 3= faf 98f 2 ?

Options:
APA.

1@?0&[0:{0

MLA.
- UHo Uelo To



Chicago

b

5 % 1

Ohio

4 )
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Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S

o5 fattes =t 3T AJAUeE SJEed & Al @ =9l aiw

It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
SHH UHT 90e A AN GChvT Tgad 81 ol 5 511 Hdal did 96

4 % HITAT B B E |
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation

> % U ToauIHIGD ChHAdToll B gae dYdl @




It emphasises on objectivity

L % € IRGMSAT W WR < @

It is a method used in qualitative research

, I8 U fafd g fordes ganT quicds o H 2k 2
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Cesticon Label ;- Multiple Choice Question

A random sample (xy, X5, ..., x,, ) is drawn from a Poisson distribution with parameter A.

Which one of the tollowing is an unbiased estimator of 12 ?
Options:

P
;Z;':E'x‘;

1. %
|l «—n 2
_Z'—]'ﬂ
- % nTI=
I R
—Z{._I.X!'{X!:— ”
z o 1 -

I n
. ;ZE:] .‘{!"I:.II' + ”
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ouestion Label : Multiple Choice Question

It T is unbiased estimator of parameter 8 and Var(T) — 0 as the sample size tends to o,
then T 1s consistent for 8. This result follows from :

Options:

| % Central Limit Theorem

5 % Cramer-Rao Inequality

Rao-Blackwell Theorem
3 ®

4 Tchebychev's Inequality
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Cuestion Label - Multiple Choice Question

[n sampling from a normal population N(8. 1) with ¥ being the sample mean then which
of the following class describes all MV B estimators of 6 ?

Options:

1« All estimators of the type AX + B. where A and B are the given constants.

> #% X only
= % All the estimators of f(T¥), where fis a real valued function.

4 % No estimator attains MVE in this case
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Juestion Label : Multiple Choice Question

Let 5. 2. 3.4, 3.2, 4,5, 3. 2 be a sample taken from a normal population with mean O and
. 3 = : . : -

variance ¢, then minimum variance bound estimator for 6~ is ?

Options:



z % 1.21
4 ¢ 12.1
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Cesticon Label ;- Multiple Choice Question

Let (x}. x5, ..., X,; ) be a random sample from a population with pdf :
f:8)=0 x"1 0<x<1,8>0

Which one of the following is correct 7
Options:

L ow 0 =Z;:_1.r,- is sufficient for 6.
N o e .
=) 4% 18 sutficient for 6.

H S i
= 13 _nr':r"‘ff is sufficient for 6.

4 % No sufficient statistic exists for 6.
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Juestion Label : Multiple Choice Question

Let 5, 3, 3, 6, 2, 3, 5, 4, 3, 6 be a sample of size 10 from a population from Poisson

.

distribution. then UMVUE of A is:
Options:

1 ® 40

z. ¢ 4



Question Number : 47 Question Id : 7622117047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Let X;(i=1,2, ..., n) be distributed as N (;, 1). What is the critical region based on
likelihood ratio test for testing Hy :piy =pp = ....=u,, =0 against H,:p; # 0 for some i, is :

Options:

o o
H
DX =)
o R
¥
i=1 “1'|'
4 %
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uestion Label - Multiple Choice Cuestion

Let (x;, x5....x, ) be arandom sample from a population with pdf
2

-.I. 3

F(x;8)= %c‘_g; 1>0,8>0

Then complete sufficient statistic for 8 is :

Options:

1 ® Zf—]

z.ﬁ?

=3 u”zr—f :

« Max (x1,x9,... X,,)
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Cuestion Label : Multiple Choice Question

An example of Conjugate prior is :
Options:

1 = Uniform distribution with binomial sampling
> % Normal distribution with Poisson sampling
= ® Gamma distribution with negative binomial sampling

4 v Beta distribution with binomial sampling
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Cuestion Label : Multiple Choice Question

Posterior mode can be considered as Bayes estimator because ;
Options:

;% Itis the best measure of central tendency
> w It minimizes the posterior expected loss for squared error loss function
- o It gives the maximum a posteriori probability

4 % It gives the maximum a priori probability
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Cuestion Label - Multiple Choice Question

For testing simple null hypothesis versus simple alternative, the Bayes factor is nothing
but :

Options:

, = Ratio of posterior probabilities



- % Ratioof prior probabilities
3 Likelihood ratio

4 % ltdepends on the sampling plan
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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uestion Label - Multiple Choice Cuestion

The Lindley's paradox refers to the situation when :
Options:

1 ® Bayes factor for Hp against Hy goes to unity as n goes to infinity
5 % Prior probability of Hp goes to zero as n goes to infinity

=  Posterior probability of Hp goes to zero as n goes infinity

4 % Posterior probability of Hp goes to unity as n goes infinity
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Juestion Label - Multiple Choice Cuestion

Which one of the following formula gives doubling time (t) of a given population ?
Options:

; w t=(log2)r
5  t=(log.2)/r
5 » t=(log.2)/2r

4 w L= (log2)/2r
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ouestion Label : Multiple Choice Question

What is population momentum 7
Options:

Tendency of a population to continue to decline after replacement level of fertility
1. % has been achieved.

Tendency of a population to continue to grow after replacement level of fertility has
-  been achieved.

Tendency of population to move up and down after reaching replacement level of
_ fertility.,

4 % Itis same as population stabilization.
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Juestion Label - Multiple CThoice Cuestion

The mean length of generation 1s affected by :
Options:

1 % Age specific fertility rate and reproductive span of women.
s % Gross reproduction rate and average age of women giving birth.

Overall fertility and mortality levels and the proportional distribution of fertility into
= « each age specilic rate.

4 % Survival of female babies born to those mothers and age of their marriage.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which one of the following is not matched correctly 7
Options:

1« Average age of child : Length of generation

> % A group of people related to marriage or adoption : Household



= % Net Reproduction Rate (NRR) equal to unity : Replacement level

4 % A married woman having no birth : Zero parity
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Couesticon Label ;- Multiple Choice Question

It country A has a higher life expectancy than country B, but A has higher crude death
rate, it is likely that :

Options:

| A's population is younger than that of B.

> % A's population is older than that of B.
- % A's population has a high infant mortality rate.

4 % None of the three is probable,
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Cuestion Label - Multiple Choice Cuestion

Which one of the following is not a spacing method of family planning ?

Options:

1 % Hormonal Method
- # Barner Method
5 « Vasectomy

4 % Intrauterine Device (IUD)
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Zuestion Label : Multiple Choice Question

Myver's blended population index is used to correct :
Options:



1« Digit preference in age data
- % Sex-ratio
5 % Growth rate

4 ® Migration rate

Question Number : 60 Question Id : 7622117060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Cesticon Label ;- Multiple Choice Question

The interval between menarche and attainment of full biological maturity is :
Options:

1 ® Primary sterility
> « Adolescent sterility
= = Secondary sterility

4 % Menopause
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Juestion Label - Multiple Choice Cuestion

The equality sign holds between Net Reproduction Rate (NRR) and Gross Reproduction
Rate (GRR), if and only if :

Options:

1 « The new born girls survive at least till the end of the reproductive period.
- % Some of the married women become widows,
= % Each of the females in the life table cohort will just be replaced by their daughter.

Survival probability of female child is greater than survival probability of male
4. % child.



Question Number : 62 Question Id : 7622117062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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ouestion Label : Multiple Choice Question

The probability that a person whose exact age is not known but lies in between x and
(x + 1) will die within one vear (m,) is (where g, is probability that a person ol exact
age x will die within one vear) :

Options:

1 ® 2'@1{ 2+ @'r\}
> R (2 + QT}J"IEQT
T {2 o f?rlfzqr

g o 2‘?1’ /(22— ‘?r}
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Juestion Label - Multiple Choice Cuestion

Which of the following is not true for stationary population 7
Options:

1 % Constant size
> % Constant age
= + Constant rate of overall change in the population

4 % Constant sex distribution
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Cuestion Label : Multiple Choice Question

Greatest drawback ol systematic sampling is that :
Options:

1 % Itis not practical

> % One requires a large sample



= % Data are noteasily accessible

4 No single reliable formula for standard error of mean is available
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uestion Label - Multiple Choice Cuestion

The discrepancy between estimates and population parameters is known as :
Options:

1 % Human Error
5 ® Formula Error
z % Enumeration Error

4 « Sampling Error
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Cuestion Label : Multiple Choice Question

Stratified sampling comes under category :
Options:

;% Subjective sampling
5  Restricted sampling
z % Unrestricted sampling

4 % Purposive sampling
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Couesticon Label ;- Multiple Choice Question

The technique to deal with problem of incomplete samples in mail surveys dealt irst by :

Options:



1% Politz and Simmons
5 % Cochran

=  Hansen and Hurwitz

4 % INeyman
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Cuestion Label - Multiple Choice Cuestion

The Midzuno system of PPSWOR sampling the units at subsequent draws (except first
draw) are selected :
Options:

1. % With PPSWR method
> #% With PPSWOR method
=« With equal probability and WOR

4 % With equal probability and WR
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Cuestion Label : Multiple Choice Question

The case of highly heterogeneous population when only one sample unit can be drawn
from each stratum is called :
Options:

, % Poststratification
5 % Deep stratification
-  Collapsed strata

4 % Neyman allocation
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ouestion Label : Multiple Choice Question

Number of basic solutions, basic feasible solutions and basic infeasible solutions ftor the
linear programming problem Max Z=4X + 5Y subject to2X + 3¥Y = 12, 3X+ Y <8. X =
0,¥=0are:

Options:

1 % 6,3, 3 respectively
= % 6,0, 6 respectively
3.« 60,4, 2 respectively

4 % 06,2, 4 respectively

Question Number : 71 Question Id : 7622117071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Let X = 0 and ¥ = 0 are two decision variables. Consider the half plan S;= {(X. ¥): X =1}
and S; = {(X, ¥):3X +4Y < 12}. If S=5; n 5, then Sis :
Options:

1« Triangle as well as convex set
5 % Trangle but not a convex set
= % Trapezium as well as convex set

4 % Trapezium but not a convex set
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Cuestion Label : Multiple Choice Question

ItX=1 ¥Y=1and Z= 1 isa feasible solution to the following system of linear equations :
2X+3¥ - Z7Z=4
—5X+6Y+Z=2

then which of the following solution is basic feasible solution reduced by given feasible
solution ?



Options:

1 # X=0,Y=6Mand Z=-2
> % X=1,Y=0andZ=1
2 X=2/3,Y=8/9and Z=0

4 # X=1/2Y =0andZ=1
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Juestion Label - Multiple Choice Cuestion

Recursive way is a method to solve ;
Options:

1 % Integer programming problem
> % Non linear programming problem
=  Dynamic programming problem

4 % Queuing problem

Question Number : 74 Question Id : 7622117074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

In graphical solution. the redundant constraint is :
Options:

1 % Which forms the boundary of feasible region
> % Which do not optimize the objective function

= « Which does not form boundary of feasible region

4 % Which optimize the objective function
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

It the Dual of the LPP has a finite optimal solution, then primal possesses :
Options:

1+ Finite optimal solution
> % Unbounded solution

5 % No solution

4 % Infinite solution
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uestion Label - Multiple Choice Cuestion

A life test with 5 exponential devices was conducted and time to failure (in hrs) of
devices were recorded to be 4, 6, 12, 18 and 20. The ML estimates of mean life 1s :

Options:

o W 12
=z o 192

4 ® 1()
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ouestion Label : Multiple Choice Question

Let x(p)<<Xx(2)<<X(3)<<x(4) arc ordered observations from exponential distribution
with mean 5.0. Consider the transformation z; = (4 — i+ D(x;y — X K X0y =0. Let
T=ziqy + 22y + Z(3y- Then E(T) is :

Options:

1 *® 3
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Cesticon Label ;- Multiple Choice Question

The lifetime of a unit follows Weibull distribution with shape parameter 2 and scale
parameter (1.5, The hazard rate of the unit is :
Options:

, « Decreasing
- % Bathtub shaped
z % Increasing

4 % Constant
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A component with constant hazard rate 6 has already survived T hours. What is the
probability that the failure of component will occur before T + x hrs ?
Options:

— X
1 % €

— Sy
2\‘!" I_F LA

3 % E—m 4T

—a(x+T)
4 % 1—e
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ouestion Label : Multiple Choice Question

A Cox-proportional hazard model describes the hazard rate of 'treatment group' in terms
of baseline hazard rate (hgy(t)) of 'control group' and a link function which brings in the
effect of covariate Z, as follows :

h(t,z) = ho(t)w(p'z)

While using this model in a clinical trial, an investigator obtained w(f'~) = 0.712 and 5
is found significant. Based on this which of the following statement is true ?

Options:

1 # Hazard function of treatment group is increasing
> % Hazard function of treatment group is decreasing
% « Treatment group has better survival than control group

4 % [Treatment group has worse survival than control group
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Juestion Label - Multiple Choice Cuestion

For linear model E(Y) = X, the least square estimator for B with its covariance matrix is
given by :

Options:

L ¢ XX XY and 62 X'X)”
, x XYXX)" and o® &%)
- % X'X)" XY and (X'X)"

. % X'Y(X'X)" and (X'X)"
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Couesticon Label ;- Multiple Choice Question

The minimum sum of squares R{ = v-x [:H ¥ — X B). so an unbiased estimator of a2 is:

Here, r = Rank(X) and other notations have their usual meanings.

Options:



G- =
1 W in—r
2
9 R
G° = 0
o % n+r
2
b R
&2 — 0
z ® (n—rin+r)
ﬁg_nﬂ'
4 ® Ry
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Cuestion Label : Multiple Choice Question

In a split plot design, smaller error mean square i1s obtained for :
Options:

1 % Main ploterror
5« Sub-plot error
= # Experimental error

4 % Main plot error and experimental error
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Cesticon Label ;- Multiple Choice Question

=

[t the interactions AB and BC are confounded with incomplete blocks in a 2° factorial
experiment, then automatically confounded effect is :
Options:

2 o AC

3_$3.r"-‘!.
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

It in a Latin square design with 5 treatments, a treatment is added, the increase in error
degrees of freedom will be :
Options:

1.3;;“‘:'2
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uestion Label - Multiple Choice Cuestion

Which of the following statement is wrong 7
Options:

, = Any countable subset of R is a Borel set.

- % Each singleton is the Borel set.

= % Uncountable unions of singletons are not a Borel set.

4 A field containing infinite number of sets is always a c-field.
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uestion Label - Multiple Choice Cuestion



For the following statements A, B and C, which of the following is correct 7
A : The intersection of arbitrary number of fields is a field.

B : The union of any two fields is a field.

C : The union of two fields is not necessarily a field.

Options:

1 # A and B are correct and C is wrong
> % Ais correct and B and C are wrong
= % B and C are correct and A 1s wrong

4 + A and C are correct and B 1s wrong

Question Number : 88 Question Id : 7622117088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

If F,(x) be the distribution function of the largest order statistics X, of a random
sample Y, Y5,..., Y, of size n from U[0, 8]-distribution, then :
Options:
< F, > converges in law to F, where F is cumulative distribution tunction (cdf) of a

1 % degenerated random variable (RV ) degenerating at "0".

o o <F,>converges in law to F, where F is cdf of a degenerated RV degenerating at "6".

< F, > converges in law to F, where F is cdf of a degenerated RV degenerating at

¥ A

"1
T W '.\BJ

4 % <F,>does not converges in law to any cdf F.
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Cesticon Label ;- Multiple Choice Question



Let <X, > be a sequence of random variables having the following probability law
I , - "

P(X,=n)= 7.P1Xn =0)= I——r forallne N
i "

where ris any natural number. Then :

Options:

P r
, » Xp—X and X, — X where P(X=0)=1
F r
> % X, =X doesnothold and X, — X . where P(X=n)=1

r P
2 @ X,—=X does not hold and X,—>X. where P(X=0)= 1|
P F
X —X and X, > X . where P(X=n)=1
4 % 1 i

Question Number : 90 Question Id : 7622117090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

[t <A, > be a sequence ol events defined on a given probability space (€2, % . F) and
=] ] n . [ [ i

A= ﬂ”_tum_nﬂm . Then which one of the following is correct ?

Options:

% I Z”:tP{A”}:mq then P(4) =0
. % I anfP{AH}-:i-x-, then P(A) = 1
- % It Z,;f P(A, )< =and <A, > is a sequence of independent events, then P(4) = 1

3 e H wy =] . T - 3 -1 Y W BT o 1 p—
. I1 Z”:[P{An}zm and <A, > is a sequence of independent events, then P(A) = |
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Cesticon Label ;- Multiple Choice Question

To construct control limits of p-chart, which distribution is used :
Options:

1 % Poisson distribution



> « Binomial distribution
= % Hyper-geometric distribution

4 % Normal distribution
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Cuestion Label : Multiple Choice Question

The process standard deviation is estimated by :

Options:
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CQuestion Label : Multiple Choice Question

The process is capable. if :
Options:

1.53'”':: C.’J'{I
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ouestion Label : Multiple Choice Question
Increase in the number ol patients in the hospital due to heat stroke is :
Options:

1 % Secular trend
> w lrregular variation
= Seasonal variation

4 % Cyclical variation
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Juestion Label - Multiple Choice Cuestion
Which of the following is not true ?
Options:
Simple exponential smoothing is used when the time series has no trend and no
1. % seasonality.

Double exponential smoothing is used when the time series has seasonality but no
2« trend.

- % Double exponential smoothing is also known as Holt-Winters algorithm.

4 % The weights are exponentially decreasing in exponential smoothing.
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Couesticon Label ;- Multiple Choice Question

Which one of the following is true ? Notations have their usual meaning :
Options:
AT )= N, 0. (1=DS - W, (n-1.3)

(X —w)~N, 0.D), (1-1S ~W, (n-15)

- Jn(X —p)~N, ©1, (n-DS~W, (n-1%)



L (X -p)~ N, (ILT). (m)S~W, (n-15)
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Cesticon Label ;- Multiple Choice Question

Which of the following is a form of oblique rotation in Factor analysis ?
Options:

= Quartimax
5 % Varimax
2  Promax

4 % Equimax
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Cuesticon Label : Multiple Choice Question

Markov analysis 1s a technique that deals with the probabilities of future occurrences by :
Options:

1 % Time series forecasting
5 % The maximal flow technique
=  Presently known probabilities

4 % None of the three

Question Number : 99 Question Id : 7622117099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

A state i 15 a return state, if :

Options:



| Pﬁ”} = () for some n = ()

{(n) S, .
- P >0forsomenz1

3 % P}E”} > | for some n =0

f - :
4 % B =1 forsomen > |
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Cuestion Label - Multiple Choice Cuestion

Two gamblers are playing a game. It initial capital of first gambler is Rs. 5 and
probability of his winning is 0.4, The second gambler has Rs. 3. Find the expected
duration of game.

Options:

1. ¢ 14

g W |7



